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Question Number : 1 Question Id : 87827052339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The solution of the differential equation x?+}-‘ = x3y%is : (where C is an arbitary constant)
:
1 y=sy5 2 2y

Ly Sy i=—x"24C

Options :

878270205941. 1
878270205942. 2
878270205943. 3

878270205944. 4



Question Number : 1 Question Id : 87827052339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT TP 2L 4y = x3y6 B 8 &: (el C TP WS AR )

. = -
Ty8x5="x"2+cC

2
3
2oy By 2="x24(C
:
3. y5x 5=§x‘5+C
" 5 _,
4 y2x5 = EX__ +C

Options:

878270205941. 1
878270205942. 2
878270205943. 3

878270205944. 4

Question Number : 2 Question Id : 87827052340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the eigen values of a 3x3 matrix are 6,5 & 2 what is the determinant of (4717

. 0.005
. 0.0087
.0.506
.0.016

Ja g P

Options :
878270205945. 1
878270205946. 2

878270205947. 3



878270205948. 4

Question Number : 2 Question Id : 87827052340 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TME 3 x 3 TS BT HHTALD T 6,5 AR 2 § dl (4~1)7 BT YRS A5

1. 0.005
2.0.0087
3. 0.506
4.0.016

Options :

878270205945. 1
878270205946. 2
878270205947. 3

878270205948. 4

Question Number : 3 Question Id : 87827052341 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let § denote the set of all real numbers except —1. Define the binary operation ¥ on § asa b= a + b+ ab. Then the
solution of the equation 2 g x3 =T1s

i e

B | b= mem |

[ Lo (]
on| - |-

Options :

878270205949. 1



878270205950. 2
878270205951. 3

878270205952. 4

Question Number : 3 Question Id : 87827052341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A o fih g, -1 Slga §¥] drafac Seel o W @l e el § a1 9 R e dfd
axb=a+b+ab D FRUTET A . T 24 ¢ 43 = 73 [0 TGV F 50 ¢l

i e

B | b= mem |

o i) ma
|~y s |~

Options :

878270205949. 1
878270205950. 2
878270205951. 3

878270205952. 4

Question Number : 4 Question Id : 87827052342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let W be the wronskian of two linearly independent solutions of differential equation 2y"+y'+t?y=0t € R
Then for all t, there exists a constant C € R such that W(t) is

1.Ce't
2.Cet?
3. Ce®t
4, Ce?t

Options :

878270205953. 1
878270205954. 2
878270205955. 3

878270205956. 4

Question Number : 4 Question Id : 87827052342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T TfTE i W Sfaa@a TR 2y +y' +ty=0 t € R Gl {10 €U & Wed GHIYMT &1 T9(Hd o
da Ul 1 & U W AR CeRANG R W3-

1. Ce™
2. CeV?
3. Ce?t
4. Ce®t

Options:

878270205953. 1
878270205954. 2
878270205955. 3

878270205956. 4

Question Number : 5 Question Id : 87827052343 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The equation sinz = 10 has

1. unique solution

2. exactly two distinct complex solutions
3. Infinitely many complex solutions

4. no solution

Options :

878270205957. 1
878270205958. 2
878270205959. 3

878270205960. 4

Question Number : 5 Question Id : 87827052343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GHIP gin z = 10 BT -~ %

1. Hfgdid gd
2. facpd &1 SfcT-31eT 9y g
3. ¥-d afmy gd
4. T3 &0 el
Options :

878270205957. 1
878270205958. 2
878270205959. 3

878270205960. 4

Question Number : 6 Question Id : 87827052344 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

Differential Equation Particular Integral(P.1.)

(A).(D*+6D +9)y =e* (1. K e*sin2x + o e*cos2x
13 13

(B)AD? — 3D — &)y = 2sinx (||]’*I_;

-5 3
(C). (D2 — 3D — 4)y = —8e*cos2x|(lI). 17 S+ cosx

(D). (D? —3D — 4)y = 2¢~* I:Hf].%zxe—x

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - {1N), (B) - (1), (€) - (1), (D) - (IV)

3. (A) - (1), (B) - (), (C) - (V), (D) - (D)

4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
Options :

878270205961. 1
878270205962. 2
878270205963. 3

878270205964. 4

Question Number : 6 Question Id : 87827052344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gi-1 3R Gi-1l DI HedH &<

qdl-| g1l
3gdd gHIH 3=y gHIHd (P.1)

- 2 10
(A). (D2 +6D +9)y =e* (1). Fe e*sin2x + = e*cos2x

EI

16

o —5 3

(C). (D* —3D —4)y = —8e*cos2x |(Ill). 17 Sinx + 5 cosx

(D). (D?*—3D —4)y =2e~* (IV). _?zxe‘“

- feu TTe fadedl 9 981 SR 9|

(B.(D? —3D — 4)y = 2sinx (1)

T.(A) - (
2. (A) - (
3. (A) - (
4. (A) - (

1), (B) - (In), (C) - (1), (D) - (IV)
1), (B) - (1), () - (), (D) - (IV)
1), (B) - (1), (©) - (IV), (D) - (1)
V), (B) - (1), (C) - (), (D) - (1)

B

Options :

878270205961. 1
878270205962. 2
878270205963. 3

878270205964. 4

Question Number : 7 Question Id : 87827052345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let W be a solution space of the differential equation ﬂi# 6224119 6y = 0. Then dimension of the solution
X ox= X

space W is

1.3
2.2
31
4.4

Options :



878270205965. 1
878270205966. 2
878270205967. 3

878270205968. 4

Question Number : 7 Question Id : 87827052345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A T {6 W 35T TG 24 6224 112 46y = 0 BIGA W ¢ ol 60 95 WA &

1.3
2.2
3.1
4.4

Options:

878270205965. 1
878270205966. 2
878270205967. 3

878270205968. 4

Question Number : 8 Question Id : 87827052346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tricomi's equation
U+ XUy, =0 is:

1. Elliptic for x<0

2. hyperbolic for x<0

3. Parabolic for x>0

4. Both parabolic & hyberbolic for x>0

Options :

878270205969. 1
878270205970. 2
878270205971. 3

878270205972. 4

Question Number : 8 Question Id : 87827052346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B &1 gdie

3:x}aé?1?:‘mwﬁ3|$
4. x> 0 & AU Waaliie 9 Afduaanis

Options:

878270205969. 1
878270205970. 2
878270205971. 3

878270205972. 4

Question Number : 9 Question Id : 87827052347 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The set on which f(z) = 22

is uniformly continous is

(D). Nowhere
Choose the correct answer from the options given below:

. (A) and (B) only
. (A) and (C) only
. (C) only

R U

. (A), (B) and (C) only

Options :

878270205973. 1
878270205974. 2
878270205975. 3

878270205976. 4

Question Number : 9 Question Id : 87827052347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



d% 9Y R f(z) = o2

TH SIS ddd &

€ R
(D) ®Ig el
-d feu T1u fasedl # € 981 SR 91
1.®ad (A) AR (B)
2.%ad (A) 3R ()
3. ®ad (C)
4. %ad (A), (B) AR (C)
Options:

878270205973. 1
878270205974. 2
878270205975. 3

878270205976. 4

Question Number : 10 Question Id : 87827052348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a subspace of g3?

1LW={(z,y,2) € R : 2 + 4y — 102 = -2}
2.W={(z,1,2) e R: 2y =0}

3. W = {(z,y,2) € R® : 22 4+ 3y — 42 = 0}
4 W = {(z,y,2) € B3 .2 € Q)

Options :
878270205977. 1

878270205978. 2



878270205979. 3

878270205980. 4

Question Number : 10 Question Id : 87827052348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad 9 9 &1 91 g8 &1 Ue JUgHP 32

1.W={(z,y,2) e R® : 2 + 4y — 10z = -2}
2.W={(z,9,2) e R:zy =0}
3. W = {(z,y,2) € R® : 22 4+ 3y — 42 = 0}
AW = {(&,1,2) €K 12 € Q)

Options:

878270205977. 1
878270205978. 2
878270205979. 3

878270205980. 4

Question Number : 11 Question Id : 87827052349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—t

fgﬁxau’zax—xfdxzﬁrmE , then p? + g2 is equal to

. 113
103
. 131
. 301

a2 |"-...' =i

Options :
878270205981. 1



878270205982. 2
878270205983. 3

878270205984. 4

Question Number : 11 Question Id : 87827052349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HITL f;ﬁx%@ax—x:dxzﬁrms, dd p2 + g2 & SaT TET

131
. 301

Fu L l‘-..# =i

Options :

878270205981. 1
878270205982. 2
878270205983. 3

878270205984. 4

Question Number : 12 Question Id : 87827052350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectory of the equation x2 +y2 = ¢ ,where C is an arbitrary constant ,is:

Y E_,-_l M) =2

Options :



878270205985. 1
878270205986. 2
878270205987. 3

878270205988. 4

Question Number : 12 Question Id : 87827052350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YHIB 52 + y2 = ¢ DI THDIVIY Tedcl, Sl C U s 3R g, I -

Ly={jx
X
e a1
4 = x>

Options :

878270205985. 1
878270205986. 2
878270205987. 3

878270205988. 4

Question Number : 13 Question Id : 87827052351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct?

1. There is a one to one correspndence between any two right cosets of the subgroup H in group G.
2. If H, K are the subgroups of G, then HK is a subgoup of G if and enly if HK = KH.

3.If H, K are the subgroups of the abelian group G, then HK is a subgroup of G.

4.1f H, K are the subgroups of G, then H n kK may or may not be a subgroup of G.

Options :



878270205989. 1
878270205990. 2
878270205991. 3

878270205992. 4

Question Number : 13 Question Id : 87827052351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofRad d 9 ®H 9 $Y- 95 Tol o7

1. g G H IUYHE H & o fovddl i &1 98 9=y o o9 TP 4 U THeUdi g

2.7 H UK, G b SUHTE &, il HK, G &1 UF SUTHE BT 4f¢ 3R &ad 4G HK = KH |
3. 718 H, K 3MTeel 98 G & JUYHE §, dl HK, G B T SUUHE &

4, TG HTYT K, G SUNHE &, Wi n ik, GBI IUHHE &l 4l Thell & 3R 81 1)

Options :

878270205989. 1
878270205990. 2
878270205991. 3

878270205992. 4

Question Number : 14 Question Id : 87827052352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The points on the sphere x>+y*+z%=1which are at the maximum and minumum distance from the point ( 34,12) are:

1. point A4/
2. point A(3/
3. point A4/
4. point A(12/

13,12/13,4/13) at maximum distance and pointB(-3/13,-4/13,-12/13) at minimum distance
134;13 12;f 3) at minimum distance and point B(-3/13,-4/3 -12/13) maximum distance
13,12/13,4/13) at minimum distance and point B(-3/13,-4/13 -12/13) at maximum distance
13- ’12/13 -4/13) at minimum distance and point B(-3/13,-4/13,-12/13) at maximum distance

Options :



878270205993. 1
878270205994. 2
878270205995. 3

87827020599%6. 4

Question Number : 14 Question Id : 87827052352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl x2+y2+22=1 W ag fdg ol fdfg (3.4,12) T ddq IR P @ W &

1. e gl R 3G A (4/13,12/13,4/13) 3R Thad g8 R g B (-3/13,-4/13-12/13)

2. A9 & W fdg A (3/13,4/13,12/13) IR 3iftidras ol W &g B (-3/13.-4/3,-12/13)

3. ATH gl R 4 A/13,12/13,4713) 3R by g8l R fig B (-3/13-4/13,-12/13)

4, AT U W g A (12/13,-12/13,-4/13) IR 3BT G W 1§ B (-3/13,-4/13,-12/13)

Options :

878270205993. 1
878270205994. 2
878270205995. 3

87827020599%6. 4

Question Number : 15 Question Id : 87827052353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For which value of k, the function f(x) = {ki_fﬁzllis continuous at x=17
1. k=1
2 k=2
3. k=3
4 k=4

Options :



878270205997. 1
878270205998. 2
878270205999. 3

878270206000. 4

Question Number : 15 Question Id : 87827052353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

k@ 69 OF & o, Barr(x) = [I‘i';fll x =10 9dd 87

DW=

Options :

878270205997. 1
878270205998. 2
878270205999. 3

878270206000. 4

Question Number : 16 Question Id : 87827052354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If alinear transformation T: B2 — R¥ is defined by T'(1,2) = (3,2,1) and T(3,4) = (6,5,4), then 7(1,0) =

0,1,2)
1,0,2)
=1,0:3)
N 1)

P —— o — g —

e o pa —



Options :

878270206001. 1
878270206002. 2
878270206003. 3
878270206004. 4

Question Number : 16 Question Id : 87827052354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 0 Y4 TUIRY 7:R2 = REDIT(1,2) = (3,2, 1) HRT(3,4) = (6,5, 4) TR URHIMG o 8, dl 71,00 3 -

Options :

878270206001. 1
878270206002. 2
878270206003. 3
878270206004. 4

Question Number : 17 Question Id : 87827052355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct? (where C-R equation means Cauchy Riemann Equation)

1. The C-R equation are only satisfied by constant function.

2. If F(z) is differentiable at a point then C-R equation must be satisfied at that point .
3. The C-R equations are only used for real valued functions

4. The C-R equations are only applicable to polynomials.

Options :

878270206005. 1
878270206006. 2
878270206007. 3
878270206008. 4

Question Number : 17 Question Id : 87827052355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad 3 9 &1 91 9el 87 ( C-R THIS &1 Jdad SII-I9H THie0 7 )-

1. C-R GHIDRU dhad] 3R BoH gR1 §qP Bl 8 |

2.T0G F (z) U foig W fddher-id & ol C-R THIGRU 341 fig W TP gH1 Mgt
3. C-R HIBRUT 1 UGN Shad diRdide Hed dic had & o [egr i |

4. C-R GHIERY Bad §gUal W TR Bld 8 |

Options:

878270206005. 1
878270206006. 2
878270206007. 3

878270206008. 4

Question Number : 18 Question Id : 87827052356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Ty

W )+0.0) J1p7 s

0
L1/2

1.
2z
4. does not exist.
Options :
8782702060009. 1
878270206010. 2
878270206011. 3

878270206012. 4

Question Number : 18 Question Id : 87827052356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. Y 3
1111*1,;511,,] +(0.0) Jigp ©

.0

o U3 T -

‘;J]-]
2

e
Al
g

Options:

878270206009. 1
878270206010. 2
878270206011. 3

878270206012. 4

Question Number : 19 Question Id : 87827052357 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ¥ and W be the subspaces of r* defined as
V ={(a,b,c,d):b—5c+2d =0}, W={ab,c,d):a—d=0, b—3c =0}, then the dimension of vnW,

1.1
2.2
3.3
4.4

Options :

878270206013. 1
878270206014. 2
878270206015. 3

878270206016. 4

Question Number : 19 Question Id : 87827052357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gH difold v3iR w, p4 & TGP & €Y 5 uRYId 8 oal
V ={(abcd:b—5c+2d=0}, W=1{abcd:ia—d=0 b-3c=0),dvnw B Gt -

1.4;
&
33
4.4,

Options :

878270206013. 1
878270206014. 2
878270206015. 3

878270206016. 4



Question Number : 20 Question Id : 87827052358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The directional derivative of g(x,y, z) = x2yz + 4xz? at (1,-2,1) in the direction of 2{ —j - 2k is

o

Options:

878270206017. 1
878270206018. 2
878270206019. 3

878270206020. 4

Question Number : 20 Question Id : 87827052358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R =F—2k i fean o (1.-2,1) R a(x, 5, 2) = x2yz + dxz? & ladp-Hdd vl ‘% -

Options :

878270206017. 1



878270206018. 2
878270206019. 3

878270206020. 4

Question Number : 21 Question Id : 87827052359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The series Y Az > 0)

n=0 a+-n
(A). convergesife < 1
(B). diverges ifz > 1
(C). diverges if £ > 1
(D). converges ifx < 1

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) only.
3. (A) and
4. (B)

]
=
-

AT

nly.

o

‘L
L !
nd (D)

o
o]

nly.

Options :

878270206021. 1
878270206022. 2
878270206023. 3

878270206024. 4

Question Number : 21 Question Id : 87827052359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al 3

)

A). MRUBA TG 2 < 1

n= U$+n

(8). ATWUTRAT 2 TGz > 1
(C). T B g TG 2 > 1
(D). MR S g dfG 2 < 1
I fau e fadedl © © U8l IR g1
1. ®ad (A) AR (B

2. ®Had (B)

3. ®ad (A) AR (C

4. %ad (B) 3R .an

Options :

878270206021. 1
878270206022. 2
878270206023. 3

878270206024. 4

Question Number : 22 Question Id : 87827052360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "shadow price” in linear programming is :

1. The cost of adding one unit to objective function .

2. The value of non-negativity constraint

3. The cost of adding on unit to the right hand side of a constraint .
4. The cost of remaining constraint

Options :
878270206025. 1
878270206026. 2



878270206027. 3
878270206028. 4

Question Number : 22 Question Id : 87827052360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gD U H B gt UG ©

1. 9589 B H TS 3H15 wlgH &l BIAd|

2. YT S Ayl fh Siad

3. TG & Qe 3R Uh 3aTs wiie (& ®iad
4. R & 94 | & ard

Options:

878270206025. 1
878270206026. 2
878270206027. 3

878270206028. 4

Question Number : 23 Question Id : 87827052361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A body originally at 60° C cools down to 40° C in 15 minutes when kept in air at a temperature at 25° C. What will be the
temperature of body at the end of 30 minutes?

1.95'C
2.30°C
3.3142°C
4.6142°C

Options :

878270206029. 1



878270206030. 2
878270206031. 3

878270206032. 4

Question Number : 23 Question Id : 87827052361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
60 f371 Siciras W iy 9 15 e H 40 el Wi 70 G181 oIl & o 28 25 ool Sk i Wga H a
Il 51 30 o7 a o H o 1 UMM o T

1.15'C
2.30°C
3.3142°C
4.6142°C

Options:

878270206029. 1
878270206030. 2
878270206031. 3
878270206032. 4

Question Number : 24 Question Id : 87827052362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement(s) is/are correct :

(A). A polynomial is monic if its leading coefficient is 1.

(B). Every square matrix is a zero of its characteristic polynomial.

(C). The characteristic and minimal polynomial of a matrix A do not have the same irreducible factors.
(D). The similar matrices have the same characteristic polynomial.

Choose the correct answer from the options given below:

(A), (B) and (D) only.
(A) and (D) only.

(B), (C) and (D) only.
(

1.
2.
3.
4. (B) only.

)
)
Options :

878270206033. 1
878270206034. 2

878270206035. 3

878270206036. 4

Question Number : 24 Question Id : 87827052362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFofaRad 3§ @ oF 91 93 &7

(A) TgUG THUIE! ¢ TG 0@ 181

(B) T H1SE 10 SfiqiefOie SgUg 1 U® 54 &id1 8|

(C) HTE A DI SfHici&itie ague aul SHfiuy Sgue H sRdsH1d ued 99 el oidl o
(D) THEY g & HHc&lis dgue IHH Bid 6

1 few 7 fadedl H § 98! Sw |

1. ad (A), (B) 3R (D)

2. ®ad (A) 3R (D)

3.®ad (B), (C) 3R (D)
4. ®ad (8)

Options :

878270206033. 1
878270206034. 2
878270206035. 3

878270206036. 4

Question Number : 25 Question Id : 87827052363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The flux of F = yi —xj + 2% along outward normal, across the surface of the solid
[(x,y,z) ER0<r<10<y<10<z< -1 yf} s equal to

1.2/3
2.5/3
3.8/3
4.4/3

Options :
878270206037. 1

878270206038. 2



878270206039. 3

878270206040. 4

Question Number : 25 Question Id : 87827052363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F‘:yf-xj+zfx1-'mﬁmmﬁ&ﬁ?eﬂw.mﬁWW[w) ER0SxS10<ys 1,05z5¢2—xf—yf}
DTRE

1.2/3
2.5/3
3.8/3
4.453

Options:

878270206037. 1
878270206038. 2
878270206039. 3

878270206040. 4

Question Number : 26 Question Id : 87827052364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2= 2% — 2y +¢°, ¢ = reosh, y = rsinf then {%}d‘:l@:i equals

+ .
|..~ t33||-:,.1

[
f.
x|

L
[
=

Options :



878270206041. 1
878270206042. 2
878270206043. 3

878270206044. 4

Question Number : 26 Question Id : 87827052364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIN 2 = 2?2 — 2y + ¢, ¢ = reosd, y = rsing a9 {%}::Lg.cl RIER B |

(]
= < &
S Skl

Options :

878270206041. 1
878270206042. 2
878270206043. 3

878270206044. 4

Question Number : 27 Question Id : 87827052365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct?

1. Every convergent sequence is bounded.

2. Every infinite bounded sequence has a limit point.

3. In the field of real numbers, a sequence is convergent if and only if it is a Cauchy sequence.
4. A bounded sequence which does not converge has a unique limit point.



Options :

878270206045. 1
878270206046. 2
878270206047. 3
878270206048. 4

Question Number : 27 Question Id : 87827052365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafaiad # 8 ©F 91 547 961 7ol 67

1. Y SR 3hH URkeg B @

2. U® 3id URaS SFHH &1 U G fdg gl 2

3. qTiaD GEHIeH & &7 H, T b SO 3i 5 3G 3R Bad d¥i oid 98 T dIRierHA gl
4, U UNGS FThH Sl HTHEING 8l Bdl 5, 391 U [d1T9 A feg 3l 2

Options :

878270206045. 1
878270206046. 2
878270206047. 3

878270206048. 4

Question Number : 28 Question Id : 87827052366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let T: R? - R? be a linear transformation defined by T(x,y) = (x,x +¥,¥).The rank(T) is :

1.0
2.1

3.3
4.2

Options :

878270206049. 1
878270206050. 2
878270206051. 3

878270206052. 4

Question Number : 28 Question Id : 87827052366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHIT:R2 > B3 W?ﬁ% YU %W T(x,y) = (x,x +y,7).8RI TRHIT feoT T 36' dl rank(T) EET’

1.0
2.1

3.3
4.2

Options:

878270206049. 1
878270206050. 2
878270206051. 3

878270206052. 4

Question Number : 29 Question Id : 87827052367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

| ' n3 I [ q . 2.2 ' '
If the volume of the solid in R® bounded by the surfaces x=-1, =1, y=-1,y=1,2=2 y* +7° =2 is g — 1, then a is equal to

Options :

878270206053. 1
878270206054. 2
878270206055. 3

878270206056. 4

Question Number : 29 Question Id : 87827052367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uﬁﬁﬁmﬁﬂﬂﬂﬁﬁ'x:-?.x: Ly=-1y=11z= 2,}-‘5= 21:2W3m§ﬁ% a—T ﬁ' Fﬂawg

1.2
2.3.
4-6
Options:

878270206053. 1
878270206054. 2
878270206055. 3

878270206056. 4

Question Number : 30 Question Id : 87827052368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ler F be a field of order 16384 then the number of proper subfields of F is :

W

Y

1
2
3.
4.

Co

Options :

878270206057. 1
878270206058. 2
878270206059. 3

878270206060. 4

Question Number : 30 Question Id : 87827052368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT F S 16384 B Ud &7 & dI F & Ifad SueH! 3 I& &

1. 6.
2.3

4. 8.
Options :
878270206057. 1
878270206058. 2

878270206059. 3

878270206060. 4

Question Number : 31 Question Id : 87827052369 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f be the function on [0, 1] defined by

. 1 1
(._l)rJ lf —i-'x‘i—, = l.l2.|3
b

i, r+i
f‘:x}_ 0, E-f x:[J

1, if x =1

then which of the following is(/ are) correct:

(A).f(x) is continuous at x=1/2

(B).f(x) is continuous on [0,1].

(C).f(x) is discontinuous at 1/2.

(D).f(x) is continuous on (1/2, 1)

Choose the correct answer from the options given below:

A) only.
B

) only.
A), (B) and (D) only.

1.
2.(
3.
4.

C) and (D) only.

Options :

878270206061. 1
878270206062. 2
878270206063. 3

878270206064. 4

Question Number : 31 Question Id : 87827052369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AFIHAA £ [0,1] | 39 dig URUIMd &

1 1
(-7, if —=x<=, r=123..... : L
f =1 o Tt T o, QFEREIHADE (R Wl e
I x =1

(A). f(x)x = 1/2 R Udd §

(8). f (x) [0,1] W Hdd &I

(). f (x) 1/2 T HYAd &

(D). f(x) (1/2,1) WUdd &

=i 74U 71U fadedt H € el SR |
1. ®Had (A)

2.®4d (B)

3. ®ad (A), (8) 3R (D)
4.®4d (C) 3R (D)

Options :

878270206061. 1
878270206062. 2
878270206063. 3

878270206064. 4

Question Number : 32 Question Id : 87827052370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The function f(z) = |7|*is

1. continuous everywhere and differentiable everywhere

2. continuous everywhere but differentiable only at the origin (Z=0)

3. discontinuous at the origin and differentiable everywhere except at the origin(Z=0)
4. nowhere differentiable and nowhere continuous

Options :



878270206065. 1
878270206066. 2
878270206067. 3

878270206068. 4

Question Number : 32 Question Id : 87827052370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT f(z) = [2°%]

1. GYOFIE Ydd 3R & 91g Adda-ig

2. YO8 Hdd difd Sad 7 fdg (z=0) W Adba-g
3. qaidg U HUdd 3R c fdg (Z=0) DI SIS 8L TE Hdha-d
4, Tl Yl IS IR Tad el

Options :

878270206065. 1
878270206066. 2
878270206067. 3

878270206068. 4

Question Number : 33 Question Id : 87827052371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a vector 7= (—4x —6y +32)i + (=2x +y + =52)j + (5x + 6y + az)k is solenoidal then values of 'a' is

1.1
2.2
33
4.5



Options :

878270206069. 1
878270206070. 2
878270206071. 3
878270206072. 4

Question Number : 33 Question Id : 87827052371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UM, TP TIGT 7 = (~4x — 6y +32)i + (=2x +y + —=52)j + (Sx + 6y + az)k NA@IT 8 dl ‘2 PTIH &

oW
(W) () [ il

Options :

878270206069. 1
878270206070. 2
878270206071. 3

878270206072. 4

Question Number : 34 Question Id : 87827052372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<

The value of integral ,I",_,T“
(=—1)i=—

dz , where C is the circle |z] = 2 is

y e
3

3. 2mie

3 .
. 2N
3
me

4
Options :
878270206073. 1
878270206074. 2
878270206075. 3

878270206076. 4

Question Number : 34 Question Id : 87827052372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&<

THIHTA [ dz, SRI Cqd |z| =2 &, PITA &l

(z—1)(=—4)

Options :

878270206073. 1
878270206074. 2
878270206075. 3

878270206076. 4

Question Number : 35 Question Id : 87827052373 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vectors T+ 2p]+ 4qk and T+ 4pj + 2qk are

1. orthogonal if p=q
2. orthogonal if p=-g
3. orthogonal if p?=g°
4. never orthogonal

Options :

878270206077. 1
878270206078. 2
878270206079. 3

878270206080. 4

Question Number : 35 Question Id : 87827052373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR 7+ 2pf + 4gk AR 7+ 4p]+ 2qk ©

1.ﬂﬁﬁ>ﬁﬁm3ﬁp=q
E.E’Iﬁﬁ)‘ﬁﬁﬂﬁpbq
3. GE®IUIY 3¢ p?=g?
4. S THEBINY I

Options:

878270206077. 1
878270206078. 2
878270206079. 3

878270206080. 4



Question Number : 36 Question Id : 87827052374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the portion of the surface z = x2 — y2 in R? which lies inside the solid cylinder x® +y2 < 1 is

1. /5

[}
=]
=
———
=]
-
oF
|
s
—

— —

5y5-1)

|;.‘ o= o= ,u,l =

:h. [
=
o
=
|
[
o

—
b2

Options :

878270206081. 1
878270206082. 2
878270206083. 3

878270206084. 4

Question Number : 36 Question Id : 87827052374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R3 BTG ;= x2 — y? B W BT GAGA S SR AT 22 +y2 < 1 B G (AT

]
-1

1. 2545 —1)
546 — 1)
5y/5—1)

(5v5 - 1)

[l

|,-_.‘ IERC-E] ml
—— —

e L
—
%)

Options :

878270206081. 1
878270206082. 2
878270206083. 3

878270206084. 4



Question Number : 37 Question Id : 87827052375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is(/ are) correct:

(A). Every permutation of a finite set can be written as a cycle or as a product of disjoint cycles.

(B). The order of a permutation of a finite set is the greatest common divisor of the length of the cycles.
(C) Every permutation of length n>1, is product of 2-cycles

Choose the correct answer from the options given below:

(A) and (B)only
B) only

(A) and (C)
).

{
(B
{
(A), (B) and (C)

1.
2.
3.
4.
Options:

878270206085. 1
878270206086. 2

878270206087. 3

878270206088. 4

Question Number : 37 Question Id : 87827052375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fegfeiad 5 8 O 91 () %

() ot ORI T & W Had @I U 9 o ©U ¥ 71 G ! o UHGa & ©U ¥ forel off el |
(8) UG ORI Gy & AT 1 FifC 1 31 s 1 Head §ANGd &

(C) Wl A foren] Ty n> 1, 2-T60] @1 UAGA 5

i few e fomed 2 @ W S |

Options :

878270206085. 1
878270206086. 2
878270206087. 3
878270206088. 4

Question Number : 38 Question Id : 87827052376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The function ¢(z, y, z) = a2y + yz + xz is a potential for the vector field F =
(Aly+2)i+(z+2)j+(z+ y}f{:
B). (& +y)i + (y+2)j + (2 + 2)k
©C (e +2)i+ (2 +1)j+ (y+2)k

Choose the correct answer from the options given below:

i

(B) only.

i

1.
2. (C) only.

3. (B) and(C) only.
4,

i

(A) only.



Options :

878270206089. 1
878270206090. 2
878270206091. 3

878270206092. 4

Question Number : 38 Question Id : 87827052376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT (2, y,2) = cy +yz + 2z FCVE&T 7P U TH TUT 2 -
(A). (y+ 2)i + (& +2)j + (z +y)k
B) (& +y)i+ (y+2)j+ (z+ 2)k
©):(z+2)i + (x+3)j + (y+ 2)k

o

-t feu e fadedl & ¥ Wel SR gH |

Options :

878270206089. 1
878270206090. 2
878270206091. 3

878270206092. 4

Question Number : 39 Question Id : 87827052377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is(/ are) correct:

(A). é é is diagonisable but non-invertible matrix.

(B). é i is non-diagonisable but invertible matrix.
L. 1= ; ; ; :

(C). 0 1S diagonisable and invertible matrix.

(D. [ﬂ {l]]}is non-diagonisable and non- invertible matrix.

Choose the correct option from the options given below:

and (C) only.
(B) only.

C) and (D) only
B), (C) and (D) .

—— e W
= 2

[ ke

Options :

878270206093. 1
878270206094. 2
878270206095. 3

878270206096. 4

Question Number : 39 Question Id : 87827052377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafea # @ &9 91 (/8) Ul &:

). [5 o Fopoiea it TR-agepwoia oegE & |
@®). [y 1| TR-fawuiia ol gepavi s 81
©.[y 1] farifa SRk sgepwvia 3MogE B
©.[; o) TR fawuffa ok TR-sqepavia siegs 21
1 feu e fawedl & € el fawed 71

1.®ad (A), (B
2.%ad (A)
3. Had (A), (C
{)(][C)Gﬁ?l{

B?R'
aﬂ?
aﬁ?

(C)
(D)

Options :

878270206093. 1
878270206094. 2
878270206095. 3

878270206096. 4

Question Number : 40 Question Id : 87827052378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3.’1—'1"‘ 51': = 15
The LPP maxz = 2.5x; + x, subjected to contraints 5x,; + 2x, < 10 has
Xy,X2 =0
. Unique value of Maxz with unigue solution
. Unique value of Maxz with infinite number of feasible solution

1

2

3. No solution

4. Unbounded soulution

Options :
878270206097. 1



878270206098. 2
878270206099. 3

878270206100. 4

Question Number : 40 Question Id : 87827052378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ; 3.’1’1"‘51’:"_‘;15 &
LPP maxz = 2.5x; + x, a3l & Sfld Sx;+2x, <10 &

xj_.:sz 0
1. Maxz @1 3fgdid 91 TG &mﬁ%
2. Maxz O 3HEddoH RDOE Q@A ed & HdAH &

3. DIg B 8l
4. AUNEg 8d

Options:

878270206097. 1
878270206098. 2
878270206099. 3

878270206100. 4

Question Number : 41 Question Id : 87827052379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The matrix A whose minimal polynomial is f(t)= t°-8t=+5t+7,is :

[ D 7
oht 3 5]
0 1 B
1 0 8
N 5]
o 1 7
0 0 -7
3.11. 0 —5]
0 1 8
B 0 7
el 5 ]
g 1 -8
Options :

878270206101. 1
878270206102. 2
878270206103. 3

878270206104. 4

Question Number : 41 Question Id : 87827052379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTE A forgm! U8 dgUg f (1) = t3-8t2+5t+7 8, &

[0 0 7
i o3
i’ 1 8
1. 0 8
2o 03
D' 1 7
0 0 -7
3./1 o —5]
I 1. B
B D7
efio s
0 1 -8
Options:

878270206101. 1
878270206102. 2

878270206103. 3



878270206104. 4

Question Number : 42 Question Id : 87827052380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements where X and Y are nxn matrices with real entries then which of the following is(/ are)
correct:

(A). If P"'XPis diagonal matrix for some real invertible matrix P, then there exists a basis for R” consisting of eigenvectors
of X.

(B). If X is diagonal matrix with distinct diagonal entries and XY=YX, then Y is also diagonal matrix.
(C). If X% s diagonal matrix, then X is diagonal matrix

(D). If X is diagonal matrix and XY=YX for all Y, then X=)I for some \eR

Choose the correct answer from the options given below:

and (D) only.
nd (C) only.
C)and (D).

nd (D) only.

o —.

Options :

878270206105. 1
878270206106. 2
878270206107. 3

878270206108. 4

Question Number : 42 Question Id : 87827052380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e R foR o g X SR v Ao Wafbal o W non GG & MATGGA 8 @H 9 (/3) W) &

%{upﬁﬂﬁwﬁaa{mﬂﬂu&w o fa g, ol R o o0 U o Hifg & Foree i wfe
|
(8) 1 x ot Tt il o ey faof oy & ofR v = v g, v ot fagof 3
(e x2 foenl aregg 3, ot  fasof e 21
(D) x fauf ol & R Tl v b FU ey = v 8, A9 ) € R T X=)1 B
id feu T foded 9 1 SR |
1.9 (4, &) R 0
2. 894 (4), (B) R ()
)

3. (), (), QR D
4,890 (8), (O 3R D)

Options :

878270206105. 1
878270206106. 2
878270206107. 3

878270206108. 4

Question Number : 43 Question Id : 87827052381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is/are correct?

(A). A closed set either contains an interval or else is nowhere dense.
(B). The derived set of a set is closed.

(C). The union of a arbitrary family of closed sets is closed.

(D). The set R of real numbers is open as well as closed.

Choose the correct answer from the options given below:

A), (B) and (D) only.
A), (B) and (C) only.
A), (C) and (D) only.

(
(
(
(B), (C) and (D) only.

1.
2.
3.
4.
Options :

878270206109. 1
878270206110. 2

878270206111. 3

878270206112. 4

Question Number : 43 Question Id : 87827052381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaRea e e I oY 9Bl 8/8?
(A) U Ygqd Tq=3d H g1 dl U HdRTd sidl & 1 del 1 Ju- =8l gial o

(B) Uth Y= &I oJdd UH=Y Add =94 sidl o

()T Y=Y & TG UNAR o] 9iHcH ¥9d =g idl & |

(D) dRdldes Tl &1 9=d R fdgd <R d9d 99=g i sidr g1
-d feu T1e fasedl & € 981 SR 9|

Options :

878270206109. 1
878270206110. 2
878270206111. 3
878270206112. 4

Question Number : 44 Question Id : 87827052382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following function satisfy Rolle's theorem?

1. f(x) = sinx,x € [0, 2r]
2. f(x) = |x|,x e [-1,1]

3. f(x) = |x—1],x€[-2 2]
4. f00) == x €[-11]

Options :
878270206113. 1
878270206114. 2



878270206115. 3
878270206116. 4

Question Number : 44 Question Id : 87827052382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § § ®1F 91 Bad Id & UHY (Rolle's Theorem) &1 TP &dl 87

1. f(x) = sinx,x € [0, 2r]
2.7(x) = jxl:x € [-1,1]

3. flx) = |x—1|,x €[-2,2]
4 fG) =~ x € [-11]

Options :

878270206113. 1
878270206114. 2
878270206115. 3
878270206116. 4

Question Number : 45 Question Id : 87827052383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The line integral of fo“ +zy) ds, where the curve Cis given by 7(t) = sinti + cost] 0<t<nf2)is

1.7/2

2.0
3.72+1/3
4.m2-1/3

Options :

878270206117. 1



878270206118. 2
878270206119. 3

878270206120. 4

Question Number : 45 Question Id : 87827052383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ (1 + ) ds, T 001 HHIBTH 61 8 C 7(t) = sinti +cost] (0< ¢ < x/2) @R Yo a1 g, &M -

1.7f2

2.0
3.7f241/3
4.7/2-1/3

Options :

878270206117. 1
878270206118. 2
878270206119. 3

878270206120. 4

Question Number : 46 Question Id : 87827052384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If u is homogeneous function of degree n, then xa+;=a—y = R

The above statement is:

1. Lagrange’s theorem
2. Euler's Theorem
3. Cauchy theorem
4. Taylor's theorem



Options :

878270206121. 1
878270206122. 2
878270206123. 3
878270206124. 4

Question Number : 46 Question Id : 87827052384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. i b ﬂu au
IR 4 TP GHYD B g oD 9id n & ol xo-+yo =mu.

SWRiad BYF %:

2. ok &1 WHY
4. TR @ YEY

Options:

878270206121. 1
878270206122. 2
878270206123. 3

878270206124. 4

Question Number : 47 Question Id : 87827052385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fu du m e B
ol then m? is equal to

) du
o R e e ik -
If u =log(x® +y3 + 2% — 3xyz) and = o S

1
2
3.
4

NS s B W

Options :

878270206125. 1
878270206126. 2
878270206127.3

878270206128. 4

Question Number : 47 Question Id : 87827052385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

; du du  Au m ! =
5| PP S Rirrop e G OREL B B 2 @A E
G u =log(x*+y3+z 3xyz) H E'.1'+E|_:.'+E|z Hj_ﬂr?ﬂm g€ &
1:1.
2.3
3.8
4.4,

Options :

878270206125. 1
878270206126. 2
878270206127. 3

878270206128. 4

Question Number : 48 Question Id : 87827052386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The differential equation 121 — 2tan(z + y} + 16y = 2e*° is

1. second order linear homogeneous equation

2. second order non-linear homogeneous equation

3. second order linear non-homogeneous equation

4. second order non-linear non-homogeneous equation

Options :

878270206129. 1
878270206130. 2
878270206131. 3
878270206132. 4

Question Number : 48 Question Id : 87827052386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
HIDT FHIDIN 12158 — 2tan(z +y) 2L + 16y = 26 &

1. fgdim Sife Ie® YT IHH
2. fgdia wife TRIFE® gH99d 9HIH0
3. fgdig @ife 3 ﬁémﬂ'{ gAY GHIE

'\r—u" —

4. fgdrg &1 X IR-gwer gHiE

Options :

878270206129. 1
878270206130. 2
878270206131. 3

878270206132. 4

Question Number : 49 Question Id : 87827052387 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of generators of the additive group Zzs is

. b

[0

1

2
3.1
4. 36

Options :
878270206133. 1
878270206134. 2

878270206135. 3

878270206136. 4

Question Number : 49 Question Id : 87827052387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TTH® JHE Z3; & o-eR (o) B 9= 8

. 6.

o P

1
2.
3.1
4. 3

o

Options :

878270206133. 1
878270206134. 2
878270206135. 3

878270206136. 4

Question Number : 50 Question Id : 87827052388 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is(/ are) correct:
A. 1 U=x2-y* is real part of an analytic function f(z) then analytic function f(z) =z + ¢

, T
B. Zeros of coszis +(2n— 1)E,where m =123

C.If f is entire and bounded for all values of z in the complex plane, then f(z) is constant throughout the plane.

2 +1 , 1
D. . dz =i ,where |z| = -
. z{z+1) 2

Choose the correct answer from the options given below:

1.B and C Only

2.ABand COnly
3.B,Cand D Only
4.ACand D Only

Options :

878270206137. 1
878270206138. 2
878270206139. 3
878270206140. 4

Question Number : 50 Question Id : 87827052388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e tﬂﬂﬁﬁﬁﬂ[/ﬁ] H’Eﬂﬁ'
e Y=y ORIV e 1 Il 4T, ol FOeWUed B & £(z) =2 4
B. cosz 1 Y4 +(2n-1)7 GET n=123,. %

A

C. Tt ¢ 9 a% e (TR Bl § iR Wiy el ; o Wt AT b o e &, (o) 90l o o
gl

22+1 @ 1
D.J iz =i, T8 1] =
’ Z(Z-I-l) =TIl |Z| 2

A oo fodhed! 9 98 S|
1. 3908 3R C
2. 5T A BN C

3, 90 B, CIRD
4, BAAACHRD

Options :

878270206137. 1
878270206138. 2
878270206139. 3

878270206140. 4

Question Number : 51 Question Id : 87827052389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The value of the integral f e~ dx is
o

i
%
3.
4,

el

Options :

878270206141. 1



878270206142. 2
878270206143. 3

878270206144. 4

Question Number : 51 Question Id : 87827052389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS f e~ gy BTAM 2
o

[t

eIl

L)

Options:

878270206141. 1
878270206142. 2
878270206143. 3

878270206144. 4

Question Number : 52 Question Id : 87827052390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a position Vector 7 = yj +y; + zk the norm of a vector can be defined as |f|= /42 + y2 + 72. Given o=In|| then

gradient & is

Ly
r
Fi

T

Laa

[ e

=4 -
o

Options :

878270206145. 1
878270206146. 2
878270206147.3

878270206148. 4

Question Number : 52 Question Id : 87827052390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ R} 2 447424 @ 00 D TR & G B | = 75,21 2 & ©UA IRUIR T o T 51 3G
z |n|§|ﬂ)f‘3.%ﬂ? & (gradient o)

Tr

Options:
878270206145. 1
878270206146. 2

878270206147. 3



878270206148. 4

Question Number : 53 Question Id : 87827052391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region bounded by the curves y = e® and 2 = 1 in the first quadrant is:

l.e—3

2.t —1
3.e/2
4.e—1

Options :

878270206149. 1
878270206150. 2
878270206151. 3

878270206152. 4

Question Number : 53 Question Id : 87827052391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qhl y = e and ¢ = 1 ¥ ORI &7 BT UYA IQUIT H &5%a &
1
2
3.¢e/2
4

Options :
878270206149. 1
878270206150. 2

878270206151. 3



878270206152. 4

Question Number : 54 Question Id : 87827052392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; ; ; ; x . . , dy
Which among the following are the integrating factors of the differential equation 3xy + y2 + (x +xy) " i

dx

(D)

S myl2aty)
Choose the correct answer from the options given below:

1. (A) and (C) only.

2.(A), (C) and (D) only.
3.(A), (B), (Q) and (D).
4.(B), (C) and (D) only.

Options :

878270206153. 1
878270206154. 2
878270206155. 3

878270206156. 4

Question Number : 54 Question Id : 87827052392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



aﬁ@aw@ww*&nﬂwmﬂ +(x? +x}) _ownwmaa mtegratmxafantors)

(A). &

Q). 3z

O)- 752

1" ay(2zty)
R I R

1,590 (A) 3R (Q)

2%@\) aiT{D
(A). B uﬁmo*
4%?{3 ) 3% (D)

Options :

878270206153. 1
878270206154. 2
878270206155. 3

878270206156. 4

Question Number : 55 Question Id : 87827052393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let h(x)=1+x, g()=(1+x)"2, fp)=1-x, k(x)=(1-%)1/2

hMatch List-1 with List-II

List-1 List-11
(points of differentiability) (function)
(A).all reals =-1 (1). kof
(B).all reals<2 (I).goh
(C). all reals =-2 (). gof
(D). all reals =0 (IV).hog

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (), (B) - (1), (C) - (), (D) - (V)

3. (A) - (IV), (B) - (llT), (C) - (), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - ()
Options :

878270206157. 1
878270206158. 2
878270206159. 3

878270206160. 4

Question Number : 55 Question Id : 87827052393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A TS h () =1+x 900 =(1+3"%,f() = 1-x k() = (19"
G- 1 SR G- 1 gAferd a%
- Tt

(3aPeH $ fdg (@)
(A). GHI arid® = -1/(1). kof
(B) 91 ardfd® <2 |(1). goh
(C). T aRwfd® =-2(lll). gof
(D) 941 g fd® > 0 [(1IV)hog
I feu e fadedl © @ U8l IR g1

- (1), (B) - (1), (C) - (1), (D) - (IV)

(1), (B) - )
- (1), (B) - (1), (C) - (i), (D) - (V)
- (IV), (B) - (1), (C) - (1), (D) - ()
- (1), (B) - (V). (C) - (1), (D) - (1)

Options :

878270206157. 1
878270206158. 2
878270206159. 3

878270206160. 4

Question Number : 56 Question Id : 87827052394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For an analytic function f(z) on domain D which of the following is({/ are) correct:
(A).if Real part of f(z) is constant then f(z) is constant function.

(B).If |[f(z)] is @ non zero constant in D, then f(z) is constant function in D.

(C).If £'(2) =0 everywhere in D then f(z) is constant function in D

(D).if [f(z)] is a non zero constant in D, then f(z) is constant only some z in D.
Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (A), (C) and (D) only.
3. (A) and (D) only.

4. (D) only.

Options :

878270206161. 1
878270206162. 2
878270206163. 3

878270206164. 4

Question Number : 56 Question Id : 87827052394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U (GRS B | (z) @I uaF D e & o Feffad 4 o 91 96l &
e f (z) BT dIRdd® YF H9d g a1 f (o Fad oA gl

gfe |f (z)1, D H U TR-Y RR{® 8, Tl f (z), D H Fad BeH Bl

(CQAC DA R TR f'(z) =0 £ dl f (), D H Mad Bad gl

D). A |f @ DH D IRYA BRI 5, Tl f (z), D H had o z RIS B

i feu 7 fadedl & © T8l IR g |

Options :

878270206161. 1
878270206162. 2
878270206163. 3

878270206164. 4

Question Number : 57 Question Id : 87827052395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the subset $={(1,0,0), (0,1,0), (0,0,1), (1,1,1).(1,1,0)} in 3which of the following is(/ are) correct..
(A). S is a linearly dependent set.

(B).Any three vectors of S are linearly independent.

(C).Any four vectors of S are linearly dependent.

Choose the correct answer from the options given below:

B) and (C) only.

A), (B) and (C).

A) and (C) only.
)

(
(
(
(A) and (B) only.

1.
2.
3
4,
Options :

878270206165. 1
878270206166. 2

878270206167. 3

878270206168. 4

Question Number : 57 Question Id : 87827052395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r? 5 SUUHE S = {(1,0,0), (0,1,0), (0,0,1), (1,1,1), (1,1,0)} P feIw o1 Fgfafed 9 4 (/8) Tl &
A) S U @ 4 U A1 T=d B

(8) S @ @Is 1l diF Wiew ed ¥U 4 WA gl

(C) S & Dis 4l IR WieW Wad & 4 R g

4 feu T faeheal & 9 e IR I |

1.&ad (B) 3R ()

2.(A), (B) 3R (O)
3. dad (A) IR (O)
4. Had (A) AR (B)



Options :

878270206165. 1
878270206166. 2
878270206167. 3
878270206168. 4

Question Number : 58 Question Id : 87827052396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following system of linear equations x+y+5z=3, x+2y+mz=>5 and x+2y+4z=k. The system is consistent if
(A).mz4

(B)k25,m=4

(C).m=4k=1

(D) m=4 k=5

Choose the correct answer from the options given below:

1.(A), (B) only.
2.(A) (D) only.
3.(8), (C) only.
4.(C) only.

Options :

878270206169. 1
878270206170. 2
878270206171. 3

878270206172. 4

Question Number : 58 Question Id : 87827052396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ﬁ@ﬁ@ﬁﬁﬂﬁaﬁﬁmﬁﬁﬁﬁﬁmTﬁﬁﬂﬁﬁﬁx;y+52:1x+2y+mz:SQNxﬁ2y+4z:HﬁﬁmIH@ﬂ%
U4

(A).m=z4

(B.k#5m=4
C.m=4k=1
Dym=4k=5

A few u foedt 5 € w8l SR |

Options :

878270206169. 1
878270206170. 2
878270206171. 3

878270206172. 4

Question Number : 59 Question Id : 87827052397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1

List-11

Family of curves

Differential Equtions

(A). y=mx, m is arbitrary constant

(1) 2y-x?=4xydy/dx

(B).{x —a)® + 2y% = q?, a is arbitrary constant

(11). ydx-xdy=0

(C). ¥2 = 4ax, a is arbitrary constant

(1), y*=2xydy/dx

(D). y=a cos(x+b), a and b are arbitrary constants|(IV).

1. (A) - (), (B) - (1), (C) - (I, (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (lm, (D) - (IV)

4. (A) - (1), (B) - (V). (C) - (0), (D) - (1)
Options :

878270206173. 1
878270206174. 2
878270206175. 3

878270206176. 4

Question Number : 59 Question Id : 87827052397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



13 -1 BT Gaferd &y

qal-| Tl-1l

dshi &I URaR ddhe GHIDHRUI

(A).y = mx, m W AR (1) . 2y2-x2 = dxydy/dx
(B): G — 2R T — a2 a“\%ﬁseﬁﬁ B |(). ydx-xdy = 0

(€). y2 = 4ax, a WS AR §

(). y2 = 2xydy,/dx

(D).y = a cos (x + b), a 3R b W3 AR g|(IV). z:+}r=ﬂ
-d feu T1e fasedl & © U8l SR |

1), (B) - (1), (C) - (I, (D) - (IV)
). (B) - {11}, (C) - (), (D) - (IV)
1), (B) - (1), (C) - {Il), (D) - (IV)
1), (B) - (V). (Q) - (1), (D) - (IN)

Options :

878270206173. 1
878270206174. 2
878270206175. 3

878270206176. 4

Question Number : 60 Question Id : 87827052398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If £(z) is an analytic function within and on a simple closed contour ¢ and a is any point inside ¢, then the integral

flz) dzi .
il :
fc - Is equivalent to

12
[y ol
/)
2 Jy s
o vy

4.5ni , L4,

(#-0)

Options :



878270206177. 1
878270206178. 2
878270206179. 3

878270206180. 4

Question Number : 60 Question Id : 87827052398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ()0 FRCIUTRA et R 9 el 1 C & i R S0 SR AR C & AR 1 915 4 g o, 70 W0
o i R

fle)
1. fo Wd!
'
v fl
3- ﬁfo |:¥—ll)3 da

1),

(20,

Options :

878270206177. 1
878270206178. 2
878270206179. 3

878270206180. 4

Question Number : 61 Question Id : 87827052399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



: 1 1l b
lim | —=+ i ___Jlsequal

n—e LVnZ4l  Vn242 Vnlin

]

BowoN
M

Options :

878270206181. 1
878270206182. 2
878270206183. 3

878270206184. 4

Question Number : 61 Question Id : 87827052399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. 1 1 1
lim | —+—4+ " v v e + __'Eﬂ:'&':?%
n—oo Lvn=+1 wnot+2 vnetn

0

ool e

2.
3

Options :

878270206181. 1
878270206182. 2
878270206183. 3
878270206184. 4

Question Number : 62 Question Id : 87827052400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List | consists of double integrals and List-ll consists of double integrals after changing the order of integration.

Match List-1 with List-1l

List-1 List-II

Bfy i fle,y)dyde 0. 7 [, fa,v)dyde

©)fy [ flasg)dady 1), [1 [* (o, v)dyda

(©) 7 fleyy)dyde |10). ; [, f(a,g)dady

) fy fF f(e,y)dedy(V). [} [¥ fz,y)dedy

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (1) (C) - (W) (D) - (1)

2. (A)- (I, (8) - (I, (C) - (Iv), (O) - ()

3. (A) - (I, (B) - () (C) - (1) (D) - (IV)

4.(A) - (IV), (B) - (1) (C) - (I, (D) - (I)
Options :

878270206185. 1
878270206186. 2
878270206187. 3
878270206188. 4

Question Number : 62 Question Id : 87827052400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | H Glee GHDaH & 3R di-Il § THIGeH & HH &I 9aoq & 416 ale GHIEmaH ¢l

Gal-1 3R G-Il B GAferd &<
erfm -l
fﬂ fﬂ f(z, v)dydz|(]). fﬂl flfm y)dydz
(B). fﬂ f fl, y)daedy|(1). Jfﬂ Iy flz,y)dudz
fﬂf flx, y)dydz |(111) fﬂf flz, y)dedy
(D). Jfﬂ I f(z, y)dedy(IV). fﬂ s f(z,y)dedy
=i feu 1Y fadedl 6 T W8l SR A |
1. (A) - (IV), (B) - (1), (©) - (1N, (D) - (1)
2. (A) - (1), (B) - (1N, () - (V). (D) - ()
3. (A) - (1), (B) - (i, (©) - (), () - (IV)
4. (A) - (IV), (B) - (1), (©) - (). (D) - (IN
Options :

878270206185. 1
878270206186. 2
878270206187. 3

878270206188. 4

Question Number : 63 Question Id : 87827052401 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of the integral

ot

~[3

Options :
878270206189. 1

878270206190. 2

H Z
55.3:_ dz, C:atrianglewith vertices at 0,
ZF—1



878270206191. 3

878270206192. 4

Question Number : 63 Question Id : 87827052401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EZ

: : Lot =g
B $oi92 € o g O TP PIAM G

ol e

Options :

878270206189. 1
878270206190. 2
878270206191. 3

878270206192. 4

Question Number : 64 Question Id : 87827052402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Determine the nature of the transformation of the expressions

_ 3iz+4 B
W=t and "2 37

(A).w3 is hyperbolic

(B).w1 is parabolic

(C).w is loxodromic

(D).w1 is loxodromic

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (C) and (D) only
4. (A) and (B) only.

Options :

878270206193. 1
878270206194. 2
878270206195. 3

878270206196. 4

Question Number : 64 Question Id : 87827052402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Sffoaiaadl & TUaRY B Ui Hefied B3
 3iz4 4 z

W, — W, =
& z—1 & z—7

(A). w, SHfTIRTTT &

(B). w; TRAAT® §

(C). w, ST THDH!

(D). wy AP THDI B

-t feu e fadedl & ¥ Wel SR gH |

1.®ad (A) 3R (D)
2. ®4d (B) 3R (Q)
3. Had(C) 3R (D)

4. &ad (A) IR (B)

Options :

878270206193. 1
878270206194. 2
878270206195. 3

878270206196. 4

Question Number : 65 Question Id : 87827052403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

Series Radius of convergence
iz—1\"
(A]'Z(2+I) ()0
(E}-Z(E‘lzf}” (11).4/5

C). Z{n + 20"z ((1IN). 1

©. (1 +$)”z” IV)./3

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (I, (D) - (V)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (1), (D) - (1)
Options :

878270206197. 1
878270206198. 2
878270206199. 3

878270206200. 4

Question Number : 65 Question Id : 87827052403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g Gi-1 3R G-

qdl-| gdi-1l
g SRR &1 e
iz—1
w3 E oo
(B). Z{Z 122" (). /5
.Z{n+ 2i)"z" (1 | 1.
{D}-Z(l +%) 27(IV). /2
- feu TTe fadedl 9 981 SR 91
1. (A) - (1), (B) - (1), (C) - (1, (D) - (IV)
2. (A) - (1), (B) - (), (C) - (1), (D) - (1V)
3. (A) - (IN), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (V). (C) - (I, (D) - (1)
Options :

878270206197. 1
878270206198. 2
878270206199. 3

878270206200. 4

Question Number

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

: 66 Question Id : 87827052404 Question Type : MCQ Option Shuffling : No

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the Linear Programming Problem (LPP):
Maximize 2 =2z +y

subject to the constraints:

3z — Ty < 21

y—2r <10

2,y > 0. Then

1. The LPP admits a unique solution with an optimal value of Z.

2. The LPP is unbounded

3. The LPP admits infinite number of feasible solution with same optimal value of Z.
4. The LPP admits no feasible solution

Options :

878270206201. 1
878270206202. 2
878270206203. 3
878270206204. 4

Question Number : 66 Question Id : 87827052404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g Taw (Uadd) R GOR &
HUPAH 2z = 22 +y

widsl & fefi:

3z — Ty < 21

y—2x <10

2,y >0.79

1. 3REP UIITH GHIDHRU BT U 3Higdid 50 Z D 3PAH Hed W BRI
2. LPp 3URtES B

3. LPP & 3fid Y&FTd §dl Z & GHH SFad HFH W 8l

4. LPP & i3 I7d €1 1ol &

Options :

878270206201. 1
878270206202. 2
878270206203. 3
878270206204. 4

Question Number : 67 Question Id : 87827052405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the vector v = (4,9,19) as a linear combination of u, = (1,~2,3),u, = (3,-7,10),u3 = (2,1,9), then which one of the
following is correct

1. V= 3u1+4‘uf_2113
2. V= 4‘111_2uf+3113
3. V= 4‘1[1+2u3_3113

4. V= u1+2u3— 3U3

Options:

878270206205. 1
878270206206. 2
878270206207. 3



878270206208. 4

Question Number : 67 Question Id : 87827052405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TCH o= (49,19 B uy = (1,-23) 1, = (3,7,10),u5 = (2,1,9)F 300 Foo & &0 & fove 21 e o 4
AT

1. V= 3u1+4u3_2113
2. V= ‘4‘1-{1‘21-{3 +3U3
3. V= 4u1+2u3 _3113
4. V= u1+2u3_ 3U3
Options :

878270206205. 1
878270206206. 2
878270206207. 3
878270206208. 4

Question Number : 68 Question Id : 87827052406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

function property

(A).log z (1). is not harmonic function
(B).ex (11). is not analytic function

(C). (1/2) log {x2+y2] (IN). is analytic function exceptz = 0

(D). xy + iy (IV). is harmonic function

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

1), (B) - (1), (C) - (i), (D) - (IV)
1), (B) - (0. (C) - (V). (D) - (1)
1), (B) - (), (C) - (V) (D) - (1)
I

Jo=
Jo=
Jo=
) = (1), (B) - (V). (C) - (1), (D) - (1)

g g

Options :

878270206209. 1
878270206210. 2
878270206211. 3

878270206212. 4

Question Number : 68 Question Id : 87827052406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 Gi-1 3R Gi-11

qdl-| -1l
B IGEILGI
(A). log z (). HOaTa! e (EEiM® bhaeH) Tol 6
(B). e* REEGLLIGCARNE B
(€) (1/2) log (E+yd)|(llN). z = 0 DI BISHR [AAYUTHD B &
(D). xy +iy (1v). Ugarg! Bad EHEIHD haF) &
I feu 71u fasedl © @ U8l IR 9|
1. (A) - (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270206209. 1
878270206210. 2
878270206211. 3

878270206212. 4

Question Number : 69 Question Id : 87827052407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-II

List-1 List-11

(A). The unit normal to the surface 23 — zyz + 28 = 1at (1,1, 1)((1). k

(B). ¢ = ==, (V) = ). j

(O 1 F = 228 +222F — 32k (V X F)lp_y 1y (). 103

(D). 1f ¢ =z, (V)lgy X 1 = (V). 1(2i -  + 28)

Choose the correct answer from the options given below:

Options :

878270206213. 1
878270206214. 2
878270206215. 3

878270206216. 4

Question Number : 69 Question Id : 87827052407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ail-1 3R Gii-11 Dl e &

EIE Tl
@G (1,1,1) RIMB 23 — zyz + 2 = 1 P (TIPS AT (). f
@) ¢ = 2. (V)0 = (1. 3
QTG F = a2 + 2227 — 32k (VX F)| g, 4y (). 10
(D) IR ¢ = g, (Vo x ¢ = (V). 1(21 — j+ 2k)
T4 feu e fadedl § € T8 S A
1. (A) - (IV), (B) - (1), () - (1), (D) - ()
2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (V). (©) - (1), (D) - (1)

Options :

878270206213. 1
878270206214. 2
878270206215. 3

878270206216. 4

Question Number : 70 Question Id : 87827052408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

(A). Set of all even integers (). field

(B). Set{a+ib:a, b € =} (I1). Integral domain

(C). Set of rational numbers (I1). Non- Commutative ring

(D). Set 5= {[g ﬂ I'x,y € Q} (IV). Commutative ring

Choose the correct answer from the options given below:

1. (A) - (V), (B) - (lI), (C) - (1), (D) - (1)

2. (A) - (1), (B) - (1), (©) - (1), (D) - (V)

3. (A) - (), (B) - (1), (C) - (V). (D) - (1)

4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
Options :

878270206217. 1
878270206218. 2
878270206219. 3
878270206220. 4

Question Number : 70 Question Id : 87827052408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gai-1 3R Gii-1l DI GHferd DIy
- -1
A) T T qUisl ST o= |(). &3
(BY5IIY {a+ ib:a,b € 2) (1) gUiieTg i
(C) U Gemsil o1 ey )R- ol
D}@ﬁu s={ls =y ee} jovimm fafmata

¥

T feu e fadedl © @ U8l IR 9|

1. (A) - (IV), (B) - (1), (C) - (), (D) - (1)

2. (A) - (1), (B) - (1), (Q) - (1), (D) - (IV)

3. (A) - (1), (B) - (1), (©) - (V). (D) - (1)

4. (A) - (IV), (B) - (1), (Q) - (1), (D) - (1)
Options :

878270206217. 1
878270206218. 2
878270206219. 3
878270206220. 4

Question Number : 71 Question Id : 87827052409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true?

(A).Let G =< a > be a cyclic group of order n, then g =< a* > if and only if ged(k,n) = 1
(B).Let G be a group and let a be an element of ordern in ¢ . If g = ¢ , then n divides k.
(C).The centre of a group G may not be a subgroup of the group G.

(D). For each 'a’ in a group G, the centralizer of ‘a’ is a subgroup of group G

Choose the correct answer from the options given below:

(A), (B) and (D) only.
(A), (B

(A), (B
(

B), (C

C) and (D).

)
)
),
) and (D) only.

1. a
2. and (C) only.
3. (
4. a

Options :

878270206221. 1
878270206222. 2
878270206223. 3

878270206224. 4

Question Number : 71 Question Id : 87827052409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e d 4 o T a0 &2
(A)HIHT G:ia}.ﬁﬁ ?JWWWW%,E‘}[G:{ ﬂk}qadﬁ_{zﬁﬂqagcd(kn}:l
(B) A ¢ U GHE & I A o Bl g H DI n BTUD Ad 5. TG g% = ¢, Tl n, & DI IS BRI 5

(C) FHE G @1 5 YHg G P SUGHE el &l 9abdl 5
(D) S5 G H YD ‘2’ B 070, "' 1 i<Vl g GBI U SUSHE ¢
il few e fodedl 5 9 98l SR 4|
1.3ad (A), (8) IR (D)
2.4 (A), (B) R (Q
3. (A), (B), (O 3R (D)
4,94 (B), (O) 3R (D)

Options :

878270206221. 1
878270206222. 2
878270206223. 3

878270206224. 4

Question Number : 72 Question Id : 87827052410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of mlﬂg;ﬂ% +y=4dlogz is

1.y = 4logz + ¢/ logx :c is an arbitrary constant.
2.y =logz + ¢/ logz :cis an arbitrary constant.

3.y=2logz +¢f lng:r: :c is an arbitrary constant.
4.y=4logz +

41c-gz :c is an arbitrary constant.

Options :
878270206225. 1
878270206226. 2

878270206227. 3



878270206228. 4

Question Number : 72 Question Id : 87827052410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dy
zlogeo- +y = 4logz &1 89 &l

y=4logz + ¢/ logz: c Udh W3 3R 3
.y:lug:ﬁ—i—c}lmgw:c@@ﬂ%l
.y:210g:&+c}'lngm:c@@x}lﬂ?%l
Y= 4logz + s ¢ TP WS I B

dlogx

o

Options :

878270206225. 1
878270206226. 2
878270206227.3

878270206228. 4

Question Number : 73 Question Id : 87827052411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is(/ are) correct:

(A). All functions in LPP are linear.

(B). The set of all optimal solutions of LPP need not to be convex.

(C). Every point lying on the line segment joining two optimal solutions to a LPP is also optimal solution.
(D). The optimal solutions of an LPP always exist.

Choose the correct answer from the options given below:

A), (B) and (D) only.
A), (B) and (C) only.
A), (B), (C) and (D).

(
(
(
(B), (C) and (D) only.

1.
2
3.
4.
Options :

878270206229. 1
878270206230. 2

878270206231. 3
878270206232. 4

Question Number : 73 Question Id : 87827052411 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The image of closed interval under a continuous function is

1. Closed interval

2. Either closed interval or open interval
3. Open interval

4. Closed interval or a singleton
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Consider the linear programming problem (LPP)
Maximize Z=—x; +4x,,
subjectto 3x; —x, = -3,
—03x,+12x, =3,
%1,%, = 0. then which of the following is correct?

1. The LPP has an unbounded solution.

2. The LPP does not have an optimal solution.
3. The LPP has no feasible region.

4. The LPP has finite optimal solution.

Options :
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